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)
NaOH Co,
Na, CO, NaOH pH o
® pH
3.1~4.4 :
H* + OH =—=H,0
(o0} CO, H,O0.
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B mg
¢ mol « L™ NaOH
(
)o NaOH V mL,
NaOH V, mL
Fe w B
PFS
- (6)
NaOH V, mL
(V, = V)ex10 "mol
n(OH™) = (V, = V)e x 10 “mol.
Fe w n(Fe) =
%mol B B = % =
0.168¢(V, - V)
mw °
0.168¢(V, - V)
:To
1 (2014 - ) 1.840 ¢
( NaCl) 250 mL
25.00 mL  0.100 0 mol/L
21.50 mL.
1) \
@)
3) NaHCO, (
3 o
1.840 g
250 mL 250 mL ;
(
) 8.2 ~10.0

o

m (NaHCO,) = 0. 100 0 mol * L' x

0.02150 LX@XM g * mol ™'

55 =1.806 g
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w=1.806 g +1.840 g =0.982.,

2(1)250 mL )
(3)0.982  98.2%

o KMnO,
KMnO,

KMnO,
2MnO, +5H,C,0, +6H ' =—
2Mn’ " +10C0O, T +8H,0

Cr,02” +6Fe’" +14H"=—=2Cr’* +6Fe’" +7H,0
2.

M
12
s*-
L +S " ==S+2I"
I2
s?° SO: .
)

KI

e 4] .

I, Na,$,0,
ClO” +H" +21"=I, +Cl” +H,0
I, +2S,0;" =—=21" +5,0;"
3.
C( C6H806)
I, C I,
Na, S, 0, C
C H,0, + L——=C,H,0, +2H" +2I~
I, +258,0; ==21" +S,0;"
3 (2016 ¢ 18 )
(Ca0, * 8H,0)
1 ~@)
3)
MnSO, KI
MnO(OH), H, SO,
MnO(OH), I° Mn** T,
Na, S, 0,
Mn* I S,03” 5.
0,—MnO(OH), —I, —S,0;
) 0, Mn** MnO(OH),
@ Ca0, * 8H,0
100.00 mL
0.01000 mol * L."' Na, S, O, 13.50 mLo,
( mgeL" )
Mn** MnO (OH),

@Oz
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2Mn’** +0, +40H =—=2MnO(OH), |

@
2Mn’* +0, +40H ===MnO(OH), |

MnO(OH), +21~ +4H"==Mn"" +1, +3H,0
I, +28,0;” ==S,0;” +21~

0, ~2MnO(OH), ~ 2I, ~ 48,0%"

0, n(SZOi_) =n(0,)
S,0%" 0.01000 mol * L' x 13.50 x
10 L,
0, ~ 2MnO(OH), ~ 2I, ~48,0%"
1 4
n(0,) n(8,0;7)

n(0,) =1/4n(S,0:7) =1/4 x 0. 01000
mol * L' x13.50 x 10 "L =3.375 x 10 mol
m ( Oz ) =
3.375 x10 "mol x32 g * mol ' x1000 mg * g~
100.00 mL x 10 °L * mL ™'

10.80 mg * L™

D2Mn** + 0, +40H =—=2MnO(OH), |
©) .

( ) .
:(1) — —
2) — —
4 (2016 - 9)
(DO)
mg/L §

) DO

2017 5

5 mg/L.
( 3 ) DO,
kT g LRI

AR R
3
I. : o, Mn?>*
MnO(OH), :
@2Mn** +0, +40H =—=2MnO(OH), |
MnO(OH), I° I:
@MnO(OH), +1~ + H" »Mn*" +1, + H,0
)  Na,S,0, I:
328,07 +1,—=S,0; +21°
II. :
a N,
N, .
b 200 mL .
c 1 mL MnSO,
( )2 mL KI ( )
@ o
d. 2 mL
@ .
e. 40.00 mL

0.01000 mol * L' Na,$,0,
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(6) e
o Na,S,0, 4.50 mL
DO=__ mg-L7'( )

DO A G

(13 ”)
@) d
pH .

)]
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€))
€))

)
©) 2 -3
(6) e -
Na,S,0,
10, ~2MnO (OH), ~ 2I, ~ 4S8, 03" 0, ~
48,037 .40.00 mL Na, S, 0,
4. 5 %10 mol
1/4 x4. 5 %10 mol 1/4 x4.5 x 10 “mol
x32g/mol x 10’ mg/g =0.36 mg 1L
0.36 mgx1000/40=9.0 mg DO =

9.0mg*L'>5mg+L" o
@) pH .
H* S,03" SO,
I S0,
(1) 2o
3) (4)1 2 4
113 (5 e 2 -3 (6)
( ) 9.0

(7)2H" + S,00°==S | +50,1 +H,0
SO, +1, +2H,0 ==4H" + S0, +21~
AH* +41° +0,—=21, +2H,0( 2 )

e 43 .
Cl~\Br \I".CN .SCN~
Ag" + X =—=AgX |
(X :C1"\Br .I".CN".SCN~ ).
K, CrO, AgNO,
Cl- :
Ag" +Cl"==AgCl| K =1.8x107"
2Ag" + Cr0;” ==Ag,Cr0, | K, =2.0x
107"
AgCl (s(AgCl) =1.3 x 10~ mol
L Ag,Cr0, (s(Ag,Cr0,) =7.9 x10°°
mol + L.°1) AgCl
o AgNO, AgCl
Cl- Ag”
Cr0:~
Ag,CrO, Ag,CrO,
5 (2016« I 27 )
(Cr) cr't( ). Cr(OH),
C  )Cr0;°( ) G0y )
Cr(OH), o
(1) ~(2)
3) K, CrO,
AgNO, Cl- Ag®
Cr0;~ o
Cl™ (c(C17) =1.0 x107° mol
LY c(Ag™) mol * L~
c(CrOi_) ~ mol = L7 (
Ag,CrO, AgCl K 2.0x107" 2.0 x
107,



e d4 .
o (3)
AgNO, Cl™ K, CrO,
Ag,CrO,
. Cl™
¢(C17) =1.0x107° mol « L™
K, (AgCl) =2.0 x 107" c(Ag?) =

K, (AgCl)/e(C17) = 2.0x107" + (1.0 x 10~ mol
L™')=2.0x10" mol * L"'; c(Cr0;7)
=K, (Ag, Cr0,)/ (Ag") = 2.0 x 107" + (2.0 x
107 mol * L7)*=5.0x10" mol * L',
22.0x107°:5x10 7%,

( FET.Cu’"WNi¥T )

EDTA (H,Y*"
Y EDTA ) .
Cu®* Ni** 0+ H YT —
CuY’” +2H" Ni*" +H,V*~ NiY’™ +2H".
6 (2016 - ="
29 ) TR CaCl:
MgBr, o
MgBr, 4 b s
: KK
1
10 g 4
150 mL ; B 15 mL .
2
3
0°C
4 0°C
160 C MgBr, o
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:DOMg  Br,

(@MgBr, +3C,H,0C, H,;==MgBr, *3C,H,0C,H;

; MgBr,

() ~@)
©)) EDTA (
') :
Mg + V' ==MgV"~
@ .
@ 0.2500 ¢ MgBr,
0.0500 mol * L™' EDTA
EDTA 26.50 mL
MgBr, - (
)
MgBr,
) :®
2 -3 .

@n (EDTA) = n (MgBr,) = 26. 50 mL x
0.0500 mol * ™! x 107 L » mL™" =0. 001325 mol
m(MgBr,) =0.001325 mol x 184g mol ' =0.2438g

0.2438/0.2500 x 100% =97.5%

:O
2-3 297.5%

3 » 113
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